(2000) 1 (2200) 1 (2220) 1 (2225) - (110) 1L
2000
4,406,581 [ 80,600 4,325,981 0]
2200
4,406,581 [ 80,600 4,325,981 0]
2220
4,406,581 [ 80,600 4,325,981 0]
2225
4,406,581 [ 80,600 4,325,981 0]
100
3,491,331 [ 15,600 3,475,731 0]
110
2,046,205 [ 15,600 2,030,605 0]
101
2,046,205
1,576,535 | 01
[ 1,345,352
1,009,014
78,053
2,094,100 x1 x12 25,130
1,521,650 x2 x12 36,520
1,366,900 x1 x12 16,403
98,096
1,423,300 x1 x12 17,080
1,201,440 x3 x12 43,252
1,049,000 x3 x12 37,764




(2000) :(2200) 1 (2220) 1 (2225) :(110) 1L
803,476
2,433,100 x8 x12 = 233,578
1,356,900 x35 x12 = 569,898
979,625,000 x3% = 29,389
336,338
1,009,014,000 x1/6 = 168,169
1,009,014,000 x1/6 = 168,169
[ 231,183
173,387
19,292
1,607,600 x1 x12 = 19,292
23,909
996,200 x2 x12 = 23,909
125,135
2,639,900 x1 x12 = 31,679
1,298,000 x6 x12 = 93,456
168,336,000 x3% = 5,051
57,796
173,386,000 x1/6 = 28,898




(2000) :(2200) 1 (2220) 1 (2225) :(110) 1L

173,386,000 x1/6 = 28,898
374,667 | 02

[ 1 320,526
42,240
30,000 x46 x12 = 16,560
20,000 x107 x12 = 25,680
12,364
46,500 x13 x4 = 2,418
355,200 x7 x4 = 9,946
51,720
25 130,000 x9 x12 = 14,040
20~25 110,000 x5 x12 = 6,600
15~20 80,000 x17 x12 = 16,320
10~15 60,000 x18 x12 = 12,960
5~10 50,000 x3 x12 = 1,800
18,480
30,000 x46 x12 = 16,560
20,000 x8 x12 = 1,920
846,322,000 x6% = 50,780




(2000) 1 (2200) 1 (2220) 1 (2225) - (110) [ 1

70,088,000 x10% = 7,009

42,180

80,000 x42 x12 = 40,320

15,000 x1 x12 = 180

40,000 x2 x12 = 960

30,000 x2 x12 = 720

6,138 x52 x25  x12 = 95,753

[ 1 54,141
7,080

30,000 x7 x12 = 2,520

20,000 x19 x12 = 4,560

1,793

46,500 x2 x4 = 372

355,200 x1 x4 = 1,421

7,680

20~25 110,000 x2 x12 = 2,640
15~20 80,000 x1 x12 = 960
10~15 60,000 x4 x12 = 2,880
5~10 50,000 x2 x12 = 1,200




(2000)

1 (2200)

1 (2220)

1(2225) :(110)

1L

3,240

30,000 x7 x12 2,520

20,000 x3 x12 720

139,556,000 x6% 8,374

7,560

80,000 x7 x12 6,720

40,000 x1 x12 480

30,000 x1 x12 360

6,138 x10 x25 x12 18,414
12,229 | 04

11,283

23,700 x1 x300 7,110

7,110,000 x4/12 2,370

23,700 x12 285

23,700 x12 285

23,700 x52 1,233

746

11,283,000 x4.5% 508

11,283,000 x1.5% 170




(2000) 1 (2200) 1 (2220) 1 (2225) - (110) [ 1

11,283,000 x0.6% = 68
100,000 x2 = 200
82,774 | 05
26,800 x7 x150 = 28,140
26,800 x1 x180 = 4,824
26,800 x1 x180 = 4,824
26,800 x1 x180 = 4,824
26,800 x1 x180 = 4,824
55,101,000 x4.5% = 2,480
55,101,000 x0.6% = 331
55,101,000 x1.5% = 827
= 500
“4 ) = 31,200
[ 15,600 15,600 0 0]
120
1,445,126
201
426,068
426,068 | 01
= 211,932
= 19,256




(2000) 1 (2200) 1 (2220) 1 (2225) 2 (120) [ 1

= 40,000
= 68,000
= 25,000
= 61,880
202
123,250

123,250 | 01
= 103,510
= 19,740

203
216,040

9,000 | 01
= 6,000
= 3,000

1,920 | 02
30,000 x64 = 1,920

10,000 | 03
= 10,000

195,120 | 04
20,400
650,000 x1 x12 = 7,800




(2000) 1(2200) 1(2220) 1(2225) 1 (120) 1L
350,000 x1 x12 4,200
100,000 x7 x12 8,400
130,080
5 250,000 x1 x12 3,000
6 155,000 x3 x12 5,580
7 140,000 x2 x12 3,360
8~9 105,000 x8 x12 10,080
QG 500,000 x1 x12 6,000
4 400,000 x1 x12 4,800
G 250,000 x7 x12 21,000
155,000 x41 x12 76,260
7,440
G4 ) 420,000 x12 5,040
(10 ) 200,000 x12 2,400
50,000 x62 x12 37,200

204

669,208 [ ] 569,490
120,000 x54 x12 77,760
85,320
5 140,000 x1 x12 1,680




(2000) :(2200) 1 (2220) 1 (2225) :(120) 1L
6 130,000 x2 x12 = 3,120
7 130,000 x2 x12 = 3,120
8~9 120,000 x6 x12 = 8,640
200,000 x1 x12 = 2,400
140,000 x1 x12 = 1,680
140,000 x6 x12 = 10,080
130,000 x35 x12 = 54,600
1,009,014,000 x1/12x250% = 210,212
1,009,014,000 x1/12x150% = 126,127
1,009,014,000 x1/12x1/24x20 = 70,071
[ 99,718
120,000 x10 x12 = 14,400
15,480
6 130,000 x1 x12 = 1,560
8~9 120,000 x2 x12 = 2,880
140,000 x1 x12 = 1,680
130,000 x6 x12 = 9,360
173,386,000 x1/12x250% = 36,123
173,386,000 x1/12x150% = 21,674




(2000) 1 (2200) 1 (2220) 1 (2225) 2 (120) 1L
173,386,000 x1/12x1/24x20 = 12,041
301
10,560
10,560 08
20,000 x6 x12 = 1,440
1,440,000 x4/12 = 480
1,800 x6 x25 x12 = 3,240
3,000 x6 x25 x12 = 5,400
200
915,250 [ 65,000 850,250 0 0]
210
130,000 [ 65,000 65,000 0 0]
201
34,000
34,000 | 01
= 10,000
5,000 5,000 0 0]
= 24,000
12,000 12,000 0 0]
202
12,000
9,000 01
= 7,000
3,500 3,500 0 0]

- 10 -




(2000) :(2200) :(2220) :(2225) :(210) 1L
= 2,000
1,000 1,000 0]
3,000 | 03
= 3,000
1,500 1,500 0]
207
44,000
44,000 | 03
= 40,000
20,000 20,000 0]
= 4,000
2,000 2,000 0]
405
40,000
40,000 | 01
40,000
1 = 30,000
15,000 15,000 0]
@ ) = 10,000
5,000 5,000 0]
220
785,250
207
263,250

- 11 -




(2000)

1 (2200)

1 (2220)

1 (2225)

2 (220)

1L

28,000

02

8,000

20,000

235,250

03

(10 )

203,750
32,000
39,500
24,450
30,000
48,500
29,300
31,500

9,000
9,000
4,500
3,000

6,000

401

15,000
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(2000) :(2200) 1 (2220) 1 (2225) :(220) 1L
15,000 | 01
15,000
405
507,000
507,000 | 01
( ) 5,000
a ) 5,000
( ) 12,000
(6 12,000
300,000
DNA 150,000
40,000
4,406,581
4,406,581
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